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@ x2+2x-3=0{1) @x2—9x+20=0{4}
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@ x>+2x=0

@ (x+2)2=0

@) (x-2 =0
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® (x+2)(x+5)

® (x-1)%2=4

(2-2)2=0




3. OIAREE f(x) =~ +3x+4 AA £(=1) + f(5) © wL& Fstoft,

= —(-1)24+3x(-1)+4=0
f(5)=-52+3x5+4=-6
L f(-1)+ f(5)=-6
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(x+2) (x+4)(x+6) +16 & J5Ealst= Bgolch. ()l &

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

D x+5 @ x+3
(@)x2+6x ® x*+6x+1

® x2+4x+38
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@D x+6
@ x+4
@ x*+6x+8
®x+6x+4
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A +6x+3=02

(x+ () = (=)
X+ (F) = £ V()
x = ()
@ (7h): -3 @ (Wh):9 ® (th: 3
@ (2h): 6 @) (h: 6

X +6x=-3

¥ +6x+9=-3+9

(x+3)?2=6
x+3==+v6
Lx=-3+V6
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o|AFtg y = —2x% + 4x O] T e} x O WHO x HHEE a, y
0 wygoly ARE b W, a &b O G FoH?
DQa:-2X=0,b:0 @ a:-5FE= —-1,b: -5
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@aIOE:_%Z,bIO

S5 ~
y=0 2 UStH —2x2 +4x =0

¥ -2x=x(x-2)=0

Lx=0FE=x=2

x=0ZYstH y =0
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25 < 4x% < 100 o] 2 &2
6.25 < x% < 25

23 =8, 33 =27

v x=2




10. (x+y)(x+y-1)-20 & H2A AFEFF A2

@(x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x-y-5)(x-y+4)

~&B

x+y=A =2l st

(x+y)(x+y-1)—20 = A(A-1) - 20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y—+4)
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@ (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)

® (a+2)(b+2)
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V180 - 18a = /18(10 —a) =3V2x V10 -a
Vi0-a= V2 @ W, a7t 7P 2 S 7 BR
a=38

Vi0-a= V8 4 W, a 7} 7P A2 gHS 7HA B R
a=2

M =38, m=2°|th

w2k Mm = 16 ©Jtt.
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-2 -1 0 1 2 3 4 5 6
D a+b=1V2 @ c+d=3V3+5
@3(a+b)>c+d @ b-a>0
®c-d<0
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VI2+2=5.Xxxx «—d
3V2-4=0.xxX —a
4-2V2=1.xxx<b
34+ V3=4 xxx «c

23(a+b)<c+d

®a+b= \/5—)3(51—1—17):3\/5

c+d=3V3+5
3(a+b)—(c+d) =3V2-(3V3+5)
= V18- V27-5<0
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